Computer-Based Math Response Practice #2

Example: Which is greater: 917 or 971?
	971 is greater because there is a 7 in the tens place, and the 7 is greater than the 1 in 917. 



Which is greater: 81 or 79?
	



Which is less: 98 or 89?
	



Which is less: 34 or 34? 
	



Round 98 to the nearest 100 and explain.
	



Round 51 to the nearest 100 and explain.
	



Round 49to the nearest 100 and explain.
	



Extended Response
Jacob went to the store with 5 dollars in his pocket. He bought a bracelet for $1.99 and a toy car for $3.99. Does he have enough money? Explain why or why not. Use rounding, not addition.
Answer:
	



